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VIZ+ (=32 + (-1)2 = V11

(074 27+ 1k) + (174 (=3)7+ (—Dk) = 17+ (-1)J+ 0k =7— 7

2(17+4 67) + ((—2)7+ 97) = 217

207+ 27+ 1K) + 7(—37+ 5]+ 4k) — 5(17+ (=3)]+ (—1)k) = —267+ 547+ 35k

1T+ AT+ Ok = 7+ 4T

. Because the squirrel is at position (2,4, 1), the desired vector is (20'+ 47+ 1E) — (20 + 47+ OE) = k.
(174 474 0F) — (27+ 47+ 0k) = —7

(20 474 1K) — (1T + 47+ 0k) =7+ k

@ = —2w, so @ and W are parallel (in opposite directions); and ¢ = 47, so ¢ and ¥ are parallel (in the
same direction).



